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Eric and Esther the Electricians Exit Slip

The following year, Eric changes his prices.  Eric now charges a fixed fee of $40 plus $10 for each hour that he works.  His main competitor, Esther, still charges the same amount, a fixed fee of $30 plus $15 for each hour.  Esther still advertises that her rates are cheaper.  Is she correct?  Explain your reasoning.  
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Eric and Esther the Electricians Exit Slip

The following year, Eric changes his prices.  Eric now charges a fixed fee of $35 plus $10 for each hour that he works.  His main competitor, Esther, still charges the same amount, a fixed fee of $30 plus $15 for each hour.  Esther still advertises that her rates are cheaper.  Is she correct?  Explain your reasoning.  
